### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 17 - Hamilton North and East
Valid Votes	4,757
Positions to be Filled	3
Quota	1,190

# Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Balarabe BABA	Independent	124
Colin DEWAR	Scottish National Party (SNP)	1,442
Martin HOSE	Scottish Conservative and Unionist	902
Davie MCLACHLAN	Labour and Co-operative Party	1,539
Andrew REYNOLDS	Scottish Liberal Democrats	249
Phil SYKES	Scottish National Party (SNP)	501
	Total	4,757

Candidate Colin DEWAR Elected with 1,442 votes, being in excess of the quota of 1,190 Candidate Davie MCLACHLAN Elected with 1,539 votes, being in excess of the quota of 1,190

# **Transfers Report**

This report contains the transfers results.

349.00000

# Stage 2 - Surplus of Davie MCLACHLAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Balarabe BABA	118	0.22677	26.75886
Transfer to Martin HOSE	280	0.22677	63.49560
Transfer to Andrew REYNOLDS	437	0.22677	99.09849
Transfer to Phil SYKES	226	0.22677	51.25002
No further preference	478	0.22677	108.39606
Not transferred due to rounding			0.00097
	Total		349.00000

# **Transfers Report**

This report contains the transfers results.

252.00000

# Stage 3 - Surplus of Colin DEWAR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Balarabe BABA	21	0.17475	3.66975
Transfer to Martin HOSE	19	0.17475	3.32025
Transfer to Andrew REYNOLDS	44	0.17475	7.68900
Transfer to Phil SYKES	1,263	0.17475	220.70925
No further preference	95	0.17475	16.60125
Not transferred due to rounding			0.01050
	Total		252.00000

# **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Balarabe BABA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Martin HOSE	18	1.00000	18.00000
Transfer to Andrew REYNOLDS	27	1.00000	27.00000
Transfer to Phil SYKES	28	1.00000	28.00000
Transfer to Martin HOSE	10	0.22677	2.26770
Transfer to Andrew REYNOLDS	57	0.22677	12.92589
Transfer to Phil SYKES	13	0.22677	2.94801
Transfer to Martin HOSE	2	0.17475	0.34950
Transfer to Andrew REYNOLDS	2	0.17475	0.34950
Transfer to Phil SYKES	9	0.17475	1.57275
No further preference	51	1.00000	51.00000
No further preference	38	0.22677	8.61726
No further preference	8	0.17475	1.39800
Not transferred due to rounding			0.00000
	Total		154.42861

#### 154.42861

# **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Andrew REYNOLDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Martin HOSE	86	1.00000	86.00000
Transfer to Phil SYKES	52	1.00000	52.00000
Transfer to Martin HOSE	148	0.22677	33.56196
Transfer to Phil SYKES	66	0.22677	14.96682
Transfer to Martin HOSE	1	0.17475	0.17475
Transfer to Phil SYKES	22	0.17475	3.84450
No further preference	138	1.00000	138.00000
No further preference	280	0.22677	63.49560
No further preference	23	0.17475	4.01925
Not transferred due to rounding			0.00000
	Total		396.06288

### 396.06288

# **Transfers Report**

This report contains the transfers results.

# Stage 6 - Exclusion of Phil SYKES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Martin HOSE	129	1.00000	129.00000
Transfer to Martin HOSE	107	0.22677	24.26439
Transfer to Martin HOSE	238	0.17475	41.59050
No further preference	452	1.00000	452.00000
No further preference	198	0.22677	44.90046
No further preference	1,056	0.17475	184.53600
Not transferred due to rounding			0.00000
	Total		876.29135

### 876.29135